
−1.0 −0.5 0.0 0.5 1.0

−1
.0

−0
.5

0.
0

0.
5

1.
0

∆B
C

D

∆BCD

r = 1
rA−P = 1

−1.0 −0.5 0.0 0.5 1.0

−1
.0

−0
.5

0.
0

0.
5

1.
0

∆H
B

∆BCD

r = 0.13
rA−P = 0.19

−1.0 −0.5 0.0 0.5 1.0

−1
.0

−0
.5

0.
0

0.
5

1.
0

∆K
R

∆BCD

r = 0.31
rA−P = 0.41

−1.0 −0.5 0.0 0.5 1.0

−1
.0

−0
.5

0.
0

0.
5

1.
0

∆G
T

∆BCD

r = 0.39
rA−P = 0.24

−1.0 −0.5 0.0 0.5 1.0

−1
.0

−0
.5

0.
0

0.
5

1.
0

∆K
N

I

∆BCD

r = 0.42
rA−P = 0.48

−1.0 −0.5 0.0 0.5 1.0

−1
.0

−0
.5

0.
0

0.
5

1.
0

∆C
A

D

∆BCD

r = 0.37
rA−P = 0.44


